ID: 1

Name
Assignment Date Period
Graph each equation.
1)y=|x+1| 2) y=|x—1|
A A
{—6 ds a3 b 1o 4 > (—6 45 4 3 2410 4 >
oy v
3) y=|x|—4 4) y=|x|+1
A A
4—6—5—4—3—2—10 4 > 4—6—5—4—3—2—10 4 >
¥ Y
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6) y= |x| +2
A
<% 5 45 5o g
Y
8) y= |x—2|
A
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A A
6 6
5 5
4 4
3 3
: :
< > < >
46 -5 4 3 2 410 4 46 -5 4 B 210 4
=3 =3
=4 =4
=5 =5
=0 =0
\/ \
11)y=|x—2|+2 12) y=|x—2|—3
A A
6 6
5 5
4 4
3 3
. .
< > < >
46 45 4 B3 2 10 4 -6 45 4 B3 2 10 4
=3 =3
=4 =4
=5 =5
-6 -6
Y \
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15) y=|x—4|—2 16) y=|x—4|+1
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=3 =3
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=5 =5
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Answers to Assignment (ID: 1)
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ID: 2

Name
Assignment Date Period
Graph each equation.
1) y=|x| -1 2) y=|x+4|
A A
{—6 54 B3 240 4 > (—6 54 B2 Qo 4 >
oy v
3) y=|x—2| 4) y=|x—1|+1
A A
4—6 45 4 B3 D210 4 > 4—6 454 B3 D20 4 >
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=3 =3
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15) y= |x+4| -4
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17) y:|x+4|+l 18) y:|x|+3
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Answers to Assignment (ID: 2)
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ID: 3

Name
Assignment Date Period
Graph each equation.
1)y=|x|—3 2) y=|x|+1
A A
{—6 ds a3 b 1o 4 > (—6 45 4 3 2410 4 >
oy v
3) y=|x+1| 4) y=|x|+3
A A
4—6—5—4—3—2—10 4 > 4—6—5—4—3—2—10 4 >
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6 6
5 5
4 4
3 3
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46 45 4 B 2 10 4 46 -5 4 B 210 4
=3 =3
=4 =4
= =
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7)y=|x—2|—2 8) y=|x—2|+2
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Answers to Assignment (I1D: 3)
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ID: 4

Name
Assignment Date Period
Graph each equation.
1)y=|x|+2 2) y=|x|+1
A A
{—6 S 4 3240 4 > (—6 S 4 3240 4 >
oy v
3) y=|x+1| 4) y=|x+2|
A A
4—6 45 4 B3 D210 4 > 4—6 45 4 32410 4 >
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21) y:|x+3|+4 22) y:|x—1|—1
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Answers to Assignment (ID: 4)
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ID: 5

Name
Assignment Date Period
Graph each equation.
1) y=|x+2| 2) y=|x|+2
A A
{—6 S 4 3240 4 > (—6 -5 4 3 240 4 >
oy v
3) y=|x|+3 4) y=|x|+1
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Answers to Assignment (ID: 5)
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ID: 6

Name
Assignment Date Period
Graph each equation.
1)y=|x+3| 2) y=|x|+3
A A
{—6 S 4 3240 4 > (—6 -5 4 3 240 4 >
oy v
3) y=|x|+2 4) y=|x+2|
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4—6 45 4 B3 D210 4 > 4—6 45 4 32410 4 >
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Answers to Assignment (I1D: 6)
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Name
Assignment Date Period
Graph each equation.
1)y=|x+2|—1 2) y=|x+1|
A A
<43 45 4 3 2 4d1o 4 > (—6 45 44 3 2 d1o 4 >
¥ Y
3) y=|x—1|+2 4) y=|x—4|—2
A A
4—6—5 “4 B3 2410 4 > 4—6 45 4 3 240 4 >
Y Y
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Y

A

Y

A
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Y

A
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Y

A
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A A
6 6
5 5
4 4
3 3
: :
< > < >
46 -5 4 3 2 410 4 46 -5 4 B 210 4
=3 =3
=4 =4
=5 =5
=0 =0
\/ \
11)y=|x—2|—4 12) y=|x—3|+3
A A
6 6
5 5
4 4
3 3
. .
< > < >
46 45 4 B3 2 10 4 -6 45 4 B3 2 10 4
=3 =3
=4 =4
=5 =5
-6 -6
Y \
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A A
6 6
5 5
4 4
3 3
: :
< > < >
46 -5 4 3 2 410 4 46 -5 4 B 210 4
=3 =3
=4 =4
=5 =5
=0 =0
\/ \
15) y=|x—4|—1 16) y=|x—4|
A A
6 6
5 5
4 4
3 3
t t
< > < >
46 45 4 B3 2 10 4 46 45 44 B3 2 10 4
=3 =3
=4 =4
=5 =5
-6 -6
Y Y

B2 gegavs math-wiorksheeh ory
9 math-worksheet.org



A A
6 6
5 5
4 4
3 3
t t
< > < >
46 -5 4 3 2 410 4 46 45 44 B3 2 10 4
=3 =3
—~ —~
=5 =5
=0 =0
\/ Y
19) y=|x+4| 20) y=|x|—4
A A
6 6
5 5
4 4
3 3
1 1
< > < >
46 45 4 B 2 410 4 46 45 44 B3 2 10 4
=3 =3
4 4
=5 =5
-6 -6
Y Y
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A A
6 6

5 5

4 4
3 3
1 1

< > < >
46 45 4 B 2 10 4 46 45 44 B3 2 10 4

=3 =3
—4 —4
=5 =5
=0 =0

Y Y

23) y=|x|+2 24) y=|x+2|

A A
6 6
5 5
4 4
3 3
1 1

< > < >
46 45 4 B 2 410 4 46 45 44 B3 2 10 4

=3 =3
4 4
=5 =5
-6 -6

Y Y

</ gsgsgs ath-wsrisheel.crg
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Answers to Assignment (ID: 7)

1) A 2) A 3) A
4 \\ 4 / d \\,4R
\\ 9’4 \\ ’ // M
~ 1 W No ~ 1 4 boo 4 - ~d oo i
_UV _UV _UV
4) A 5) A 6) A
\ \\ , 5
- . < N 4 - >
Db g do \ko ] // Tk kD
) )V )
70\' 70\! 70\!
7) A 8) A 9 A
, \\ , \
< > < \\ // > < >
I 4 > 7:) } s 4 M J Jo &4 7270 }
N
7UV 70\! 7UV
10) A 11) A 12) A
\‘{ / . .
NS , 5
N
<% 4 5o } > DI N } > <% 4 5o } >
7UV 70\! 70\!
13) A 14) A 15) A
! :\\ / \\
S N/ 5 \\
% L Do | ” T 4 Dbo } ” T b b TN 6T
70\7 70\! 70\7
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16) A 17) A 18) A
% 4 Do 4 g <% 4 2o 4 > % 4 Do 4 >
Y Y Y
19) A 20) A 21) A
O O O /
4 ) 1/
R 5 \\ //
< > < > < \/ >
o 4 b 4 Jo N2 o /! J 4 Dbo 4
Y Y Y
22) A 23) A 24) A
\ O / O O
\4 / 4 4
A\ d
S 4 Lo ! ~ ~% 4 %o 4 > Sl b ! >
Y Y Y
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ID: 8

Name
Assignment Date Period
Graph each equation.
1)y=|x|+1 2) y=|x+2|
A A
{—6 S 4 3240 4 > (—6 -5 4 3 240 4 >
oy v
3) y=|x+1| 4) y=|x—2|—3
A A
4—6 45 4 B3 D210 4 > 4—6 454 B3 D20 4 >
¥ Y

. 7 gegeus matih-wiorksheeh ory
i math-worksheet.org



Y

A

Y

A
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Y

A

4B

Y
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A
6
5
4
3
t
< >
46 -5 4 3 2 410 4
=3
—4
=5
=0
Y

A
Y
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Y

A
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A

Y

A
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A A
6 6
5 5
4 4
3 3
: :
< > < >
46 -5 4 3 2 410 4 46 -5 4 B 210 4
=3 =3
=4 =4
=5 =5
=0 =0
\/ \
15)y=|x—3|+3 16) y=|x—3|—3
A A
6 6
5 5
4 4
3 3
. .
< > < >
46 45 4 B3 2 10 4 -6 45 4 B3 2 10 4
=3 =3
=4 =4
=5 =5
-6 -6
Y \
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A A
6 6

5 5

4 4
3 3
1 1

< > < >
46 45 4 B 2 10 4 46 45 44 B3 2 10 4

=3 =3
4 —~
=5 =5
=0 =0

Y Y

19) y=|x|+4 20) y=|x+4|

A A
6 6
; 5
4 4
3 3
1 1

< > < >
46 45 4 B 2 410 4 46 45 44 B3 2 10 4

=3 =3
4 4
=5 =5
-6 -6

Y Y
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A A
6 6

5 5

4 4

3 3
1 1

< > < >
46 45 4 B 2 10 4 46 45 44 B3 2 10 4

=3 =3

4 —~

=5 =5

=0 =0

Y Y

23)y=|x|+2 24) y=|x+1|—2

A A
6 6
5 5
4 4
3 3
t 1

< > < >
46 45 4 B 2 410 4 -6 45 4 B3 2 10 4

=3 =3
=4 =4
= -5
-6 -6

Y Y
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Answers to Assignment (I1D: 8)

1) A 2) A 3) A
\\\ ! /// ! \\ ! //
\‘"v/ / \\ : //
< > < > < \/ >
o 4 2o 2 3 o 4 2o 4 o 4 Do }
_UV _UV _UV
4) A 5) A 6) A
\\ 4 4 4
\\ 5 , 5
< \\ // > < > < >
o 4 2 M y 1o 4 K } Jo b 7? /]
N
70\' 70\( 70\(
7) A 8) A 9 A
// , \\ ,
TN Lo 4 ~ Tl 4 bo } g Tl \KO ] // g
) )V
7UV 70\( 70\(
10) A 11) A 12) A
\\ 4 ‘4\\// 4
\\ 5 // , 5
~d 4 b \v/ ! ~ T 4 Dbo ) ” ~d 4 b oo } -
7‘)" 7()\' 7‘)"
13) A 14) A 15) A
4 \\‘f‘ // 4
SN/
N
<% 4 5o } > <% 4 2o } > <% 4 5o } >
70\7 70\( 70\!
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16) A 17) A 18) A
7R a—— ! > “ N o /] > ~% 4 5o ) >
Y Y Y
19) A 20) A 21) A
O O \ O /
\ .| /
NV
REETE ! > “ 4 5o 4 > ~5 4 5o ! >
Y Y Y
22) A 23) A 24) A
O / O O
4 // 4 4 //
\\ / ’ \\ ’ /
N > < > DR / >
J 4 Db oo 4 do 4 b oo 4 6 -4 \u/ 4
Y Y Y
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ID: 9

Name
Assignment Date Period
Graph each equation.
1) y=|x-1|-4 2) y=|x-1]-3
A A
4—6—5 4 B3 D010 4 > <—6 &5 4 B3 20 4 >
v Y
3)y=|x+3|+3 4)y=|x—1|—1
A A
4—6—5 “4 B3 2410 4 > 4—6 45 4 3 240 4 >
Y Y
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Y

A

Y

A
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A A
6 6
5 5
4 4
3 3
: :
< > < >
46 -5 4 3 2 410 4 46 -5 4 B 210 4
=3 =3
=4 =4
=5 =5
=0 =0
\/ \
11)y=|x—3|—2 12) y=|x|—4
A A
6 6
5 5
4 4
3 3
t t
< > < >
46 45 4 B3 2 10 4 46 45 44 B3 2 10 4
=3 =3
=4 =4
=5 =5
-6 -6
Y Y
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A A
6 6
5 5
4 4
3 3
1 1
< > < >
46 45 4 B 2 10 4 46 45 44 B3 2 10 4
=3 =3
—4 —4
=5 =5
=0 =0
Y Y
15) y=|x|+4 16) y=|x|+3
A A
6 6
5 5
4 4
3 3
1 1
< > < >
46 45 4 B 2 410 4 46 45 44 B3 2 10 4
=3 =3
4 4
=5 =5
-6 -6
Y Y
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A A
6 6

5 5

4 4
3 3
1 1

< > < >
46 45 4 B 2 10 4 46 45 44 B3 2 10 4

=3 =3
—4 —4
=5 =5
=0 =0

Y Y

19) y=|x+2| 20) y=|x+1|

A A
6 6
5 5
4 4
3 3
1 1

< > < >
46 45 4 B 2 410 4 46 45 44 B3 2 10 4

=3 =3
4 4
=5 =5
-6 -6

Y Y
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21) y=[x+2[ -4 22) y=|x-1]+4

A A
6 6
5 5
4 4
3 3
: :
< > < >
46 -5 4 3 2 410 4 46 -5 4 B 210 4
=3 =3
=4 =4
=5 =5
=0 =0
\/ \
23)y=|x+1|+2 24) y=|x+1|—1
A A
6 6
5 5
4 4
3 3
. .
< > < >
46 45 4 B3 2 10 4 -6 45 4 B3 2 10 4
=3 =3
=4 =4
=5 =5
-6 -6
Y \
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1)

Answers to Assignment (I1D: 9)

2)

3)

A A A
\\ 5 5 5
<« > < > < >
do \KO I Ao s Do
N h .
N —4 —4
Y Y Y
4) A 5) A 6) A
O O \ O
4 4 \{
5 , SN
<% 4 5o > < 4 > <5 b oo >
Y Y Y
/) A 8) A 9) A
O O / O \ /
4 4 // 4 \/
, , // ,
< > < /] > < >
J 4 Do 4 I \vz’ 0 } J 4 Dbo 4
Y Y Y
10) A 11) A 12) A
O \ O O
4 \\ 4 4
5 \‘§ 5
< > < AN VAR < >
J 4 Do 4 Jo 14 Dboo \\// J N2 o )
Y Y Y
13) A 14) A 15) A
O 0 / O
4 // 4
\\ //
< > N/ > < >
o L4 2o } o 4 2o } o L 2o }
Y Y Y
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16) A 17) A 18) A
\\U // ) \\ ) //
Y \ N/
WV
~% 4 5o 4 > “ 4 %o } > ~% 4 5o 4 >
J)V —ov 70"
19) A 20) A 21) A
= \\ 4 /// 9
, N S| A N
\V/
~5 4 5o 4 > “ & %o ! > 1 - o 4 >
,UV —u\' 7UV
22) A 23) A 24) A
A4 N/ 4
\\//
<5 4 5o 4 > ~% 4 %o ! > DR 4 >
70\( 70\( 70\(
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1D: 10

Name
Assignment Date Period
Graph each equation.
1)y=|x+1|+3 2) y=|x—4|—2
A A
<—6—5 4 3 2410 4 > <—6 S 4 3240 4 >
v Y
3)y=|x—1|—2 4)y=|x—1|+1
A A
4—6—5 “4 B3 2410 4 > 4—6 45 4 3 240 4 >
Y Y
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Y

A

Y

A
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Y

A
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Y
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A
6
5
4
3
T
2 >
do 5 B D2 Do 4
=3
-4
=5
=0
Y

A
&
5
4
3
T
> >
dods 4B D2 dio 4
=3
-4
=5
=6
Y
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Y

A

-1 0

Y

A
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A A
6 6

5 5

4 4
3 3
1 1

< > < >
46 45 4 B 2 10 4 46 45 44 B3 2 10 4

=3 =3
4 —~
=5 =5
=0 =0

Y Y

15) y=|x|+3 16) y=|x+2|

A A
6 6
; 5
4 4
3 3
1 1

< > < >
46 45 4 B 2 410 4 46 45 44 B3 2 10 4

=3 =3
4 4
=5 =5
-6 -6

Y Y
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A A
6 6
5 5
4 4
3 3
1 1
< > < >
46 45 4 B 2 10 4 46 45 44 B3 2 10 4
=3 =3
—4 —4
=5 =5
=0 =0
Y Y
19)y=|x+1|—1 20) y=|x+1|+2
A A
6 6
5 5
4 4
3 3
t 1
< > < >
46 45 4 B3 2 10 4 -6 45 4 B3 2 10 4
=3 =3
=4 =4
=5 =5
-6 -6
Y \
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21) y= |x+l| -4
A

O

b W &

P~ PR SR P g
Y

23) y= |x—3| +4
A
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22) y= |x+4| -2
A

O

b W &

Tl s 5 b o ~
Y

24) y= |x—1| + 4
A
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1)

A

Y

4)

A

Y

7)

A

Y

10)

A

Y

13)

A

2 0

Y

Answers to Assignment (ID: 10)

2) A
T 4 2o -
Y
5) A
\ O
\\ 4
N
< AN >
4 2o
Y
8) A
\ (4]
\\ 4
N
< AN >
s 4 2o
Y
11) )
“ I o >
\
14)
A
“ 1 5o >
\

3)

A

6)

Y

A

9

Y

Y

A

12)

A

15)

Y

A

Y
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16) A 17) A 18) A
6 6 ° /
4 * 4//
; ’ N/
< > < > — >
46 4 2o 4 6 4 2o 4 46 4 2o 4
Y Y Y
19) A 20) A 21) A
0 N 4 0
Gi \\ 4// Gi
5 AV 5 //
< > < > < / >
do 4 4 -6 4 20 4 -6 \K 2 0 // 4
- : NV
L " N
Y Y Y
22) A 23) A 24) A
6 TN / N/
) LN\ DN
471 1 o 4 > < 6 4 2o 4 > <—6 4 20 4 >
Y Y \
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